Notation Scientifique (G)

Iranscrivez chaque nombre ci-dessous en notation standard ou scientifique,

12 900 = 4000000 =
360400 = 6,791 x 108 =
4240 _ 2,51x 103 =
82x10* = 24%x10° =
132100 = 5299 X 10° =
47 x108 = 1550 -
68900 000 = 2,258 x 108 =
12700000 = 3,157 x 106 =
4800000 = 9370 =
820000 = 70590 000 =
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Notation Scientifique (G) Solutions

Iranscrivez chaque nombre ci-dessous en notation standard ou scientifique,

12900

360 400

4 240

8,2 x 10*

132100

4,7 x 108

68900 000

12700 000

4800 000

820 000

1,29 x 10*

3,604 x 10°

4,24 x 103

82 000

1,321 x 10°

470000 000

6,89 x 107

1,27 x 107

4,8 x 10°

8,2 x 10°

4000000

6,791 x 10°

2,51 x10°

2,4 x 10°

5,299 x 10°

1550

2,258 x 10°®

3,157 x 10°

9370

70 590 000

4 x 10°

679 100 000

2510

2400000

529900

1,55 x 103

225800000

3157000

9,37 x 10°

7,059 x 107
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